
44. a) 1970

45. d) Uok¬

46. c) 1653

47. b) Kpcp-hm-bq¿ t£{Xw

48. c) 2004

49. a) ]me-°p-∂Øv F{_lmw a¬]≥

50. b) kp{_-a-lvW-y≥ Xncp-apºv

51. a) Posthumously

52. d) looked down on

                      looked down on - Consider something

53. d) from (Separate from)

54. b) is      (CXn¬ The announcement BWv
   subject singular Bb-Xp-sIm≠v singular verb

55. c) a pretty  women

56. a) you were punctual

 (If + Subject + V2 Bbm¬

                                      Main clause would + V1

57. c) Whom (Whom + pronoun)

58. b) least (little - less/lesser - least

59. b) used  (used to +V
1
)

60. d) Cement

61. b) Kid

62. d) nebulae

63. c) gloze

64. d) face to face

65. a) negligent

66. c) bequeathed

67. a) mint

68. b) a memorable day

69. b) would’nt we ( Aux verb + not + subj)

70. b) Lion has been seen in the street

     ( Presenrt perfect tense s‚ passive  form :
         Object + has/have + been + v3  + by + subject)

71. b) Petrol is highly inflammable

72. b) B[m--cnI

73. c) Fw. hmkp-tZ-h≥ \mb¿

74. d) \h-{K-l-ß-fpsS XS-hd

75. d) tKm]kv{Xn

76. a) Aev]-⁄m\w B]Øv

77. c) BtZ-i-k‘n

78. b) The end

79. b) B{iaw

80. c) Ak-µnKv[w
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Answer key

1. c) ]©m_v

2. a) kvπmjv

3. d) Z£n-W-sIm-dnb

4. d) cmP-ÿm≥

5. b) 5.40%

6. a) amf

7. c) e≠≥

8. c) knwk¨

9. d) P∏m≥

10. a) ssl∏-vt\m-fPn

11. a) sIπ¿

12. b) P\p-hcn 15

13. b) dnIvkvUmKv

14. d) {In°‰v

15. d) ssII-fn¬

16 a) -273.150c

17. c) bpdm-kn¬

18. a) IqSpw

19. b) 31 tPmUn

20. c) tkmUnbw

21. d) tKmXºv

22. b) sS‰-\kv

23. a) Xem-akv

24. a) tkmUnbw Im¿_tW‰v

25. c) tKmh

26. c) 1969

27. b) 1602

28. a) sP.Fw Nm‰¿Pn

29. d) 1955 BhUn ktΩ-f\w

30. c) lq•n

31. d) 26

32. a) Acp-Wm-N¬ {]tZiv

33. a) 1942 BKÃv 8

34. b) knJv

35. a) PmKn¿Zmcn

36. b) C¥y ˛ ]m°n-ÿm≥

37. b) tIm -̈hm-enkv

38. b) jm”

39. d) 1917

40. b) kn.hn Ip™ncm-a≥

41. a) sIm®n

42. c) 1924

43. c) atlm-Z-b-]pcw



81.  a) 10% \jvSw\jvSw\jvSw\jvSw\jvSw
         hmßn-b-hne = 46 x100/115 = 40

   36 cq]bv°v hn‰p, \jvSw = ( 40-̨ 36) = 4 cq]
               \jvS-i-X-am\w = 4/40 x 100 = 10%

82.c) 150

                     x - 40 = x x 80
/100

                            x = x x 80
/100

   = 40

                            x = 40 x 100       = 200
                                         20

                  x x 3
/4

 = 200 x 3/4 = 150

83. d) 5%

                1 day = 24 hour, 1 hour = 60 minute

                              72      
 x 100 = 5%

                            24 x 60

84.  d) 32

     5 t]¿, XpI = 20 x 5 = 100

        Bdm-aXv Hcmƒ

      hcp-tºmƒ, XpI =  22 x 6 = 132

       6˛m-as‚ hb v = 132 ˛ 100 = 32

85. b) 4:1

1cq] = 100 ss]k, 3 cq] = 300 ss]k

                  360 : 90 = 4:1

86. c) 9

 111, 222, ....... 999

87. d) 7600

      
I = 

PNR 
=

 120000 x 9.5 x 8

                        100                12x100

                                 = 7600

88. d) i\ni\ni\ni\ni\n

          2012 P\p-hcn 1 ˛̨ ˛ Rmb¿ (A-[n-h¿jw)

       2012 Unkw-_¿ 1 ˛̨ ˛ ?

                                      Hcp-t]mse Znh-k-ßƒ (1,8,15,22,29)

      2012 Unkw-_¿ 31 ˛̨ ˛ Xn¶ƒ

                        30 ˛̨ ˛ Rmb¿

                         29 ˛̨ ˛ i\n ............

                  2012 Unkw-_¿ 1 i\n

89. d) 12 sec

    
 T = 

d
/s =

 (100+140) m 
= 

240 x 18

72 km                 72x5

                               = 12sk°‚ v

90. d) 9

             J             brother

            9x              x

           9x+3    x+3

          3(x+3) = 9x +3

            3x +9 = 9x +3

                  x =1

Pb-dm-ans‚ hb v  9x1 =9

91. c) sX°v

100m

100m

200m

 92. c) 21

                         a\p
                      15

             8         7

           a\p      hn\p

                    BsI = 15+6 = 21

 93. a) 72

              
   48  =

 Q x 2 Q

                            Q + 2 Q

              2Q2     

= 48
                3q

                  Q  = 48 x 3     = 72

                              2

 94.

    2n = 26  ,   2n = 6  ,     n=3

        2 3+1 + 4   =  24 + 4 = 16+4  = 20

2  64

2  32

2  16

2   8

2    4

     2

P = 2Q



95. d) 109

                  60 + 18 x 3-5 = 109

96. b) 10/√√√√√2 cm

       ka-]m¿iz {XntIm-W-Øns‚

          hi-ß-fpsS Awi-_‘w = 1:1:√2

   henb hiw ˛ a√2 = 10,  a = 10/√2

98. b) 100  (a-‰p-≈h Iyq-_p-Iƒ)

99. JUDICIAL

(JOURNEY, JUDGE, JUDICIAL, JUSTICE, JUVENILE)

100. d) 47568

        PROBATES         BEATS

                        12345678          47568

 97.   c) 138

              x 2+6    x 2+6     x 2+6         x 2x6

            3,     12,    30,    66, _____ 138

( ( ( (


